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)2 AEIH HZE 2002 x1,0002 x4 3] 800
2)0K=0IAHIAZEHAEE EESHE
5,000¥ 3002 *x3& 4,500
1)2 &l 3,276
2)MHIA S AR =X OHAH|
4™+ 117 x7,000& 3,276
N2g4e 7,700
)ALl 2l A AL
70,000& x5 «4 3] 1,400
)MERHIA AN HHY Noslol F
e 70,000 x10 13| 700
)Y N ABAS M RLARE 4
70,000& x5 «4 3] 1,400
Q)N AMNSSXNEAMAXL S 3o &AM LC
70,000 x15% x4 3| 4,200
02 Z2=2=2494| 1,200 1,200 0
N2222 2 MA 1,200
2)2E23 ¥ BUEH M323
100,000& x12& 1,200
202 044l 16,300 11,760 4,540




SN FUMBTRA
I NI SANES
R XNFEA=S M| (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 2L Hl 16,300 11,760 4,540
DAt 22 CHA R S X g2
50,000& x4 %103 2,000
N2ASEXNAAET SZEZAF 50,0008 *2%H »303] 3,000
NAFESAMEES NAESEHS 50,000& 2% x503] 5,000
NMSTAY DUHS SSAS ol L 9
35 A 50,000& x2%H %103 1,000
NALEAX e & A3s &4A
50,000 x4 H x4 3| 800
NAFAEANMEH e Y T2 SHAIEE0I
50,000 x2H x103] 1,000
NHAS HHAS 02 A2 50,000 «3H*10L 1,500
DANATEEA L B2y ANE
50,000 x23 10 1,000
NADN T SR EAF &G 50,000 x2H 10 1,000
BYSYFH (FUMERAA) 15,080 14,740 340
Jl2&ddl 15,080 14,740 340
Jl2&Hl 15,080 14,740 340
201 et 9| 5,780 5,780 0
01 AFR 2t 2| H| 5,780 5,780 0
1) Bt42H| 3,400
)48 E 22| 200,000 x17H 3,400
1)= 2| 2,380
2Q)BNEY SEH| 7,000 172 x20! 2,380
202 o4 | 5,100 4,760 340
01 2L Hl 5,100 4,760 340
1FCIMETAD BEA2Y |
50,000 x17H x6 5,100
203 €2 F&d| 4,200 4,200 0
04 EASHEIRFEH| 4,200 4,200 0
NF0METAY) EASH 350,000 x12& 4,200
THEES(FoMET A4 827,754 771,493 56,261
WHEAHAH XK= 827,754 771,493 56,261
LHEAHCH K= 827,754 771,493 56,261
701 JIEIS| HE =2 827,754 771,493 56,261
01 JIEISI HE =2 827,754 771,493 56,261
12 EBS AN EYESIH =2
827,754,000 827,754




